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QA1
“I came to your house but you had left by then.” This is an example of :
(a) Simple Sentence
(b) Compound Sentence
(c) Complex sentence
(d) Complex predicate
Ans X A1
o B.2
X C.3
X D.4
Question ID : 2233951519
Status : Answered
Chosen Option : B
Q.2
Choose the option which gives the correct meaning for the given idiom
Hold your horses
(a) Plan carefully before a venture
(b) Keep your plans to yourself
(c) Wait before doing something in a hurry
(d) Have patience till the end of the activity
Ans X A.1
K B.2
o C.3
X D.4
Question ID : 2233951502
Status : Answered
Chosen Option : C
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Q.3

Ans

Identify the writer of the Percy Jackson series.
(a) Rick Riordan

(b) Stephenie Meyer

(c) Suzanne Collins

(d) Roald Dahl

& A1
X B.2
X cC.3
X D.4

Question ID : 2233951524
Status : Not Answered
Chosen Option : --

Q4

Ans

Change the Speech -
“What did you eat for breakfast today?” The docfor asked the

patient

(a) The doctor asked the patient whether he had eaten breakfast today
(b) The doctor asked the patient what he has eaten for breakfast today
(c) The doctor asked the patient whether he has eaten breakfast that day

(d) The doctor asked the patient what he had eaten for breakfast that day

X A1
X B.2
Xc3
o D. 4

Question ID : 2233951512
Status : Answered
Chosen Option : B
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Q.5

Ans

In the question, four words are given, of which two words are antonyms of each other.
Mark the correct answer.

A. Adamant
B. Flexible
C. Aggressive
D. Vain
(a) DC
(b) AB
(c) CB
(d) AC
KA1
o B.2

X C.3
X D.4

Question ID : 2233951504
Status : Answered
Chosen Option : D

Q.6

Ans

Give one word for
The process o1 practice of nsing another person's ideas or work and pretending that it
is your own

(a) Facsimile
(b) Forgery
(¢) Fraud
() Plagiarism
XA
K B.2
K C.3
o D.4

Question ID : 2233951506
Status : Answered
Chosen Option : D
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Q.7

Ans

Queen ElizabethII  over England

(a) rains
(b) reigns
(c) reins
(d) rings

X A1
 B.2
Xcs3
X D.4

Question ID : 2233951511
Status : Answered
Chosen Option : B

Q.8

Ans

Choose the correct synonym of the given word.

Loathe

(a) Heavy

(b) Hate

(c) Sticky
(d) Burdened

X A1
« B.2
Xc.3
X D.4

Question ID : 2233951513
Status : Answered
Chosen Option : C
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Q.9
‘What is the meaning of 'gist'?
(a) The title of an article.
(b) The transitions between paragraphs.
(¢) The main poinf or essence.
(d) The facts used by the author to make a point.
Ans X A.1
K B.2
« C.3
X D.4
Question ID : 2233951525
Status : Not Answered
Chosen Option : --
Q.10
Choose the statement(s) where the underlined word is used correctly:
A. He dealt the cards with care.
B. He dealt with the employer in a firm manner.
C. As an investigation officer, she dealt deeper into the matter.
D. The soldiers had biscuits dealt out to them freely, and they even shared them with the
other squadrons.
(a) BCD
(b) ABD
(c) ABC
(d) ACD
Ans X A.1
" B.2
X C.3
X D.4
Question ID : 2233951503
Status : Answered
Chosen Option : C
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QN

Select the prefix that makes correct antonyimn of the word “decisive”.
(a) Disdecisive
(b) Itndecisive
(©) Indecisive
(d) Il-decisive
Ans X A1
X B.2

& C.3
X D.4

Question ID : 2233951522
Status : Answered
Chosen Option : C

Q.12
A sentence which has two or more clauses is called a:-

(a) Simple sentence

(b) Compound sentence
(c¢) Complex sentence
(d) Subordinate Sentence

Ans X A.1
X B.2
& C.3
X D.4

Question ID : 2233951520
Status : Answered
Chosen Option : D
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Q.13
Select the word where “s” is not a suffix.
(a) Snakes
(b) News
(c) Visits
(d) Rights
Ans X A1
& B.2
X c.3
X D.4
Question ID : 2233951518
Status : Answered
Chosen Option : B
Q.14
15th August is a day in the history of India.
(a) Red-letter
(b) Blue-letter
(c) Black-letter
(d) White-letter
Ans A1
X B.2
XcC.3
X D.4
Question ID : 2233951509
Status : Answered
Chosen Option : A
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Q.15
Identify the underlined word in the sentence — ‘The shop closes at five in the
evening.’
(a) Noun
(b) Verb
(¢) Pronoun
(d) Adverb
Ans A1
X B.2
K C.3
< D.4
Question ID : 2233951507
Status : Answered
Chosen Option : A
Q.16
Identify the correctly spelt word:
(a) Receiv
(b) Receive
(c) Recieve
(d) Riceive
Ans X A1
o B.2
K C.3
X D.4
Question ID : 2233951508
Status : Answered
Chosen Option : C
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Q.17
John easily got away after committing the crime. What does the underlined
phrase best stand for?

(a) Was punished
(b) Escaped
(c) Understood

(d) Surrendered

Ans X A.1
 B.2
X C.3
X D.4

Question ID : 2233951515
Status : Answered
Chosen Option : D

Q.18
A person who holds traditional values, and dislikes change would be known as-

(2) Conventional
(b) Conservative
(¢) Panhandler
(d) Egalitarian

Ans X A1

o B.2
Xca3
X D.4

Question ID : 2233951523
Status : Answered
Chosen Option : B
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Q.19
Change the voice in the sentence given below:

Who taught you English ?

(a) By who were you taught English.
(b) By which were you taught English.
(¢) By whom you were taught English ?

(d) By whom were you taught English ?

Ans X A.1
< B.2
X C.3
& D. 4

Question ID : 2233951510
Status : Answered
Chosen Option : C

Q.20
Select the word that does not become an antonym due to first syllable “un”.

(a) Unfaithful
(b) Unaccountable
(c) Unable

(d) Understand

Ans X A.1
X B.2
X C.3
& D.4

Question ID : 2233951521
Status : Answered
Chosen Option : D
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Q.21

Ans

Out of the four alternatives suggested, select one which best expresses the same
senfence in passive/ active voice.

The lightning caused a seriouns forest fire and damaged many nearby houses.

(a) A serious forest fire has been caused by lightning and many nearby houses have
damaged.

(b) A serious forest fire was caused by lightning and many nearby houses are
damaged.

(¢) A serious forest fire had been caused by lightning and many nearby houses had
damaged.

(d) A serious forest fire was caused by lightning and many nearby houses were
damaged.

X A1
X B.2
X C.3
& D. 4

Question ID : 2233951514

Status : Answered

Chosen Option : A

Q.22

Ans

"Indian history was written by British historians — extremely well documented and
researched, but not always impartial. History had to serve its purpose: Evervthing
was made subservient to the glory of the Union Jack. Latter-day Indian scholars
presented a contrary picture.”

From the text above, we can infer that:
Indian history written by British Historians

(2) Was not well documented and researched and was sometimes biased
(b) Was well documented and not researched and was sometimes biased
(c) Was well documented and researched but was sometimes biased

(d) Was not well documented and researched and was always biased.

X A1
X B.2
& C.3
X D.4

Question ID : 2233951501

Status : Answered

Chosen Option : C
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Q.23

Ans

Which Schedule of the Indian Constitution talks about the official languages of
India?

(a) Schedule 6
(b) Schedule 7
(c) Schedule 8
(d) Schedule 9

KA

X B.2

& C.3

K D.4

Question ID : 2233951516

Status : Not Answered

Chosen Option : --

Q.24

Ans

Read these senfences about the Sahara Desert.

Sahara is a desert. It has nothing but sand and rock. It is hard for people to walk on
it barefoot. The desert is oo hot for il.

Which of the following sentences best combines the above?

(a) Sahara is a desert with nothing but sand and rock which makes it too hot for
people to walk barefoot on it.

(b) The desert of Sahara is very hot with sand and rock and people find it hard
to walk on it.

(c) The desert of Sahara becomes hard for people to walk on it because of sand

and rock.

(d) Sahara is a desert that is impossible to walk on as it becomes very hot

because of sand and rock.

o A1
X B.2
X cC.3
X D.4

Question ID : 2233951517

Status : Answered

Chosen Option : B
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Q.25

Change the word ‘belief’ into an adjective
(a) Believe

(b) Believable

(c) Believers

(d) Believing

Ans X A.1
 B.2
K C.3
X D.4

Question ID : 2233951505
Status : Answered
Chosen Option : B

Section : General Awareness

Q.1
The Vaikuntha Perumal temple at Kanchi was built in the 8% century by which Pallava

King?

(a) Mahendrvarman
(b) Harsh Vardhan
(¢) Aparajitavarman
() Nandivarman 11
Ans X A.1
& B.2
K C.3
« D. 4

Question ID : 2233951542
Status : Not Answered
Chosen Option : --

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258021358/1258021358S5D261/16311691282158263/1... 13/42



9/13/21, 7:10 PM

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258021358/1258021358S5D261/1631...

Q.2

Ans

World Water Day celebrated all over the world since 1993 on which one of the
following days?

(a) 5% September
(b) 16% April
(c) 220d March
(d) 26" April

X A1

K B.2

& C.3
X D.4

Question ID : 2233951534
Status : Answered
Chosen Option : D

Q.3

Ans

The Asiatic Society was established in 1784 in which one of the following place ?
(a) Thanjavur
(b) Calcutta
(c) Madras
(d) New Delhi
XA
o B.2
X C.3
X D.4

Question ID : 2233951538
Status : Answered
Chosen Option : A
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Q.4

Ans

As per the experiment of Hershey and Chase, which of the following
elements are found in DNA?
1. Oxygen
Nitrogen
Sulphur
Phosphorus
Carbon

i

(a) Only1,2,4 &5
(b)Only1,2,3&5
(c) Only2,3,4&5
() 1,2,3,4&5

o A1
X B.2
Xc3
X D.4

Question ID : 2233951541
Status : Answered

Chosen Option : D

Q.5

Ans

On which one of the following are time zones bases?
(a) Latitude

(b) Longitude

(c) Altitude

(d) Distance from Equator

X A1
o B.2
Xcs3
X D.4

Question ID : 2233951529
Status : Answered
Chosen Option : D
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Q.6

Ans

The author of Train to Pakistan is.
(a) Arundhati Royv

(b) Anita Desai

(c) Shashi Tharoor

(d) Khushwant Singh

X A1
X B.2
X C.3
& D.4

Question ID : 2233951526
Status : Not Answered
Chosen Option : --

Q7

Ans

The State of Uttarakhand was formed in the year:

(a) 1999
(b) 2001
(c) 2002
() 2000

KA1
X B.2
X c3
o D. 4

Question ID : 2233951546
Status : Answered
Chosen Option : A
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Q.8
Consider the following pairs [River: Origin]
1. Jhelum: South Eastern part of Kashmir
2. Brahmaputra: Mansarovar Lake
3. Krishna River: Mahabaleshwar
(a) 1 & 2 are correct
(b) 2 & 3 are correct
(c) 1 & 3 are correct
(d) 1,2 & 3 correct
Ans X A1
X B.2
K C.3
o D. 4
Question ID : 2233951547
Status : Answered
Chosen Option : B
Q.9
Jhumpa Lahiri was awarded Pulitzer prize for which one of the following
works?
(a) Interpreter of Maladies
(b) A Beginning
(c) The White Tiger
(d) A fine Balance
Ans A1
X B.2
K C.3
X D.4
Question ID : 2233951540
Status : Not Answered
Chosen Option : --
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Q.10

Ans

‘Which one of the following States in India is largest producer of Pulses?

(a) Uttar Pradesh
(b) Rajasthan
(©) Gujarat

(d) Madhya Pradesh

X A1
X B.2
X C.3
& D.4

Question ID : 2233951532
Status : Answered
Chosen Option : B

QN

Ans

Which one of the following is the first country in the WHO Western Pacific Region

to be awarded a malaria-free certification in more than 3 decades?

(a) India
(b) Russia
(¢) Canada
(d) China

X A1
X B.2
Xc.s3
& D.4

Question ID : 2233951528
Status : Answered
Chosen Option : B

Q.12

Ans

Salim Ali Centre for Ornithology and Natural History is located at which one of

the following places?

(a) Dehradun

(b) Thiruvananthapuram
(c) Shimla

(d) Coimbatore

X A1
X B.2
X C.3
& D.4

Question ID : 2233951539
Status : Answered
Chosen Option : A
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Q.13

Ans

The World Population Day is observed every yvear on?

(a) Ist July
(b) 5% July
(c) 11t July
(d) 9t July

X A1
X B.2
& C.3
X D.4

Question ID : 2233951549
Status : Answered
Chosen Option : B

Ans

Cloves, used in spices, are derived from which part of the plant?

(a) Flower bud
(b) Fruit
(c) Stem
(d) Seed

o A1
X B.2
X cC.3
X D.4

Question ID : 2233951545
Status : Answered
Chosen Option : D
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Q.15

Ans

The N-95 masks are made from the polymer
(a) Polypropylene

(b) PVC

(c) Polystyrene

(d) Cotton

& A1
X B.2
X cC.3
X D.4

Question ID : 2233951533
Status : Answered
Chosen Option : C

Q.16

Ans

Which space agency has decided to hire and launch the world’s first physically disabled
astronaut?

(a) NASA
(b) ISRO
(c) European Space Agency
(d) JAXA
KA
X B.2
« C.3
X D.4

Question ID : 2233951527
Status : Answered
Chosen Option : A

Q17

Ans

According to the Constitution of India the President can nominate how many
members to the Rajya Sabha from amongst persons having special knowledge or
practical experience in literature, science, art and social service?

(@2

() 12

() 10

(@ 6

X A1
 B.2
Xcs3
X D.4

Question ID : 2233951548
Status : Not Answered
Chosen Option : --
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Q.18

Ans

The design of National Flag was based on the flag of Indian National Congress.
Who among the following designed it?

(a) Rabindra Nath Tagore
(b) Bankim Chandra Chatterjee
(c) Pingali Venkayya

(d) Justice Ranade

KA1
X B.2
& C.3
X D.4

Question ID : 2233951537
Status : Answered
Chosen Option : A

Q.19

Ans

Abraham Lincoln, the 16% President of the United State of America, represented
which pelitical party?

(2) Democrat
(b) Republican

(c) Tory

(d) Coalition

XA
o B.2
Xc3
X D.4

Question ID : 2233951544
Status : Answered
Chosen Option : A

Q.20

Ans

For the purpose of cooperation and exchange of information among Parlinment and
parliamentarians of all the countries, Inter- Parliamentary Union(IPU) was established
in 1889 with their headquarter in ?

(a) Geneva
(b) Brussels
{c) London

() Switzerland

o A1
X B.2
X C.3
X D.4

Question ID : 2233951535
Status : Not Answered
Chosen Option : --
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Q.21
Khudai Khidmatgar, veluntary brigade in red shirts to struggle against
Colonialism was organised by which one of the following nationalist leader?

(a) Vallabhbhai Patel
(b) Balwant Rai Mehta
(c) Abdul Ghaffar Khan
(d) Jawaharlal Nehiu
Ans X A1

X B.2

" C.3

X D.4

Question ID : 2233951530
Status : Not Answered
Chosen Option : --

Q.22
Great Himalayan National Parks known for Brown Bear and Snow Leopard is located

in which one of the following States?
() Uttarakhand
(b) Himachal Pradesh
(¢) West Bengal
(d) Sikkim
Ans X A1

& B.2
X C.3
X D.4

Question ID : 2233951531
Status : Answered
Chosen Option : D

Q.23

Which one of the following dance forms of India originated from Andhra
Pradesh ?

(a) Kathakali
(b) Mohiniattam
(¢) Kuchipudi
(d) Sattriya
Ans X A.1
K B.2

& C.3
X D.4

Question ID : 2233951536
Status : Not Answered
Chosen Option : --
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Q.24

‘Sultan Azlan Shah Cup’, is related to which sports?

(a) Hockey

(b) Golf

(c) Cricket

(d) Lawn Tennis

Ans @ AT
< B.2
X C.3
X D.4

Question ID : 2233951543
Status : Answered
Chosen Option : A

Q.25

The most common types of forests in India are?

(a) Savanna forest
(b) Equatorial evergreen forest
(¢) Conifers and pines forest

(d) Tropical deciduous forest

Ans X A.1
X B.2
X C.3
& D.4

Question ID : 2233951550
Status : Answered
Chosen Option : B

Section : Logical and Analytical Ability
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Q1

Find the wrong term in the following series
169, 218, 254, 269, 295, 304, 308

(a) 304
(b) 254
(c) 269
(d) 295
Ans X A1
X B.2

& C.3
X D.4

Question ID : 2233951575
Status : Answered
Chosen Option : C

Q.2
Choose the word which is least like the other words in a group?

(a) Zinc
(b) Aluminium
(c) Copper
(d) Mercury
Ans X A.1
X B.2
X C.3
o D. 4

Question ID : 2233951559
Status : Answered
Chosen Option : D
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Q.3

Ans

Identify the wrong number in the given series
864, 420, 200, 96, 40, 16, 6

(a) 420
(b) 96
(c) 400
(d) 40

X A

B2

K C.3
K D.4

Question ID : 2233951571
Status : Answered
Chosen Option : B

Q.4

Ans

Pointing fo a woman, Nirmal said, “She s the only danghter of my wife’s grandfather’s only
child”. How is the woman related to Nirmal?

(a) Father
(b) Daughter
(c) Wife

(d) Husband

KA1
X B.2
& C.3
X D.4

Question ID : 2233951567
Status : Answered
Chosen Option : C

Q.5

Ans

How many times are the hands of a clock at right angles in a day?

(a) 22
(b) 24
(c) 44
(d) 48

X A1
X B.2
& C.3
X D.4

Question ID : 2233951568
Status : Answered
Chosen Option : D
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Q.6

Ans

Arrange the following words in a meaningful sequence:
1. Elephant 2. Cat 3. Mosquito 4. Tiger 5. Whale

(a) 12345
(b) 52314
(c) 32415
(d) 54321

X A1
X B.2
& C.3
X D.4

Question ID : 2233951562
Status : Answered
Chosen Option : C

Q.7

Ans

Sita is tenth from the left end and Monicais 12™ from the right end in a row of girls.
If there are nine girls between Sita and Monica, how many girls are there in the row ?

(@) 33
)y 30
© 31
@ 34

XA
X B.2
& C.3
X D.4

Question ID : 2233951560
Status : Answered
Chosen Option : C

Q.8

Ans

Sam ranked 7't from the top and 36" from the boftom in a class. How many
students are there in the class ?

(@) 42
) 45
(c) 40
(d) 46

o A1
X B.2
X C.3
X D.4

Question ID : 2233951558
Status : Answered
Chosen Option : A
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Q.9

‘What is the difference between number of extra days in a general yvear and leap year?

(a)o
(b)1
(c)2
(d)3

Ans X A.1

B2
Xcs3
X D.4

Question ID : 2233951564
Status : Answered
Chosen Option : B

Q.10

Find out the odd one out 3,10,21,36,55,70.105

(a) 10
(b) 55
(€) 70
(d) 105

Ans X A1
X B.2

& C.3
X D.4

Question ID : 2233951553
Status : Answered
Chosen Option : C

Q.11
Alexa is related to Amazon in the same way as Assistant is related to

(a) Microsoft
(b) Google

(c) Yahoo

(d) Apple

Ans X A1
& B.2
X C.3
X D.4

Question ID : 2233951561
Status : Answered
Chosen Option : B
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Q.12

Ans

At 4:30, what is the angle formed between hour hand and minute hand ?

(a) 90 degrees
(b) 120 degrees
(c) 45 degrees
(d) 60 degrees

<A

X B.2

& C.3

K D.4

Question ID : 2233951566
Status : Answered
Chosen Option : C

Q.13

Ans

Arrange the following in a meaningful order, from particular to general:
1. Family. 2. Community. 3. Member. 4. Locality. 5. Country

(a) 31245
(b) 31254
(c) 31425
(d) 31452

o A1
X B.2
Xcs3
X D.4

Question ID : 2233951570
Status : Answered
Chosen Option : A

Q.14

Ans

A cricket ball is lighter than a hockey ball and a volleyball is lighter than a football. A hockey
ball is lighter than a football but heavier than a tennis ball. Which of the following is the
heaviest?

(a) Hockey ball
(b) Cricket ball
() Volley ball
(d) Football

X A1
X B.2
Xc.3
& D.4

Question ID : 2233951573
Status : Answered
Chosen Option : D
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Q.15
If DELHI is coded as CCIDD , how is BOMBAY written in the code ?

(a) ATMIVT
(b) AMIXVS
(€) MIXVSU
(d) WXYZAX
Ans o # A1
* B.2

X C.3
K D.4

Question ID : 2233951551
Status : Answered
Chosen Option : B

Q.16
‘Which of the following cannot be the first day of a century year?

(a) Monday
(b) Tuesday
(c) Wednesday
(d) Thursday

Ans X A1
X B.2
& C.3
X D.4

Question ID : 2233951565
Status : Answered
Chosen Option : A
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Q.17 s
In a certain code language,

'"Pollution Quality Index' is written as 'nl vt de’,
'Strong Increase Hope' is written as 'po se nr’,
'Quality Based Strong' is written as 'yt as nr’',

'Index Strong Hope' is written as 'nr de po'.

‘What is the code for 'Strong opinion' in the given code language?
(a) nr po
(b) nl de
(c) se po
(d) nr fg

Ans X A1
X B.2
X C.3
& D.4

Question ID : 2233951572
Status : Answered
Chosen Option : D

Q.18
The word “BODY™ is represented by “APCZ”, What will represent “DELHI”

(a) CEKHI
(b) EFMILJ

() CFKIH
(d) CFKGH

Ans X A1
X B.2

& C.3
X D.4

Question ID : 2233951552
Status : Answered
Chosen Option : C
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Q.19

Ans

‘What is the next two terms in the following pattern 3,8.10,15,17,22,24.......

(a) 29,31
(b) 25,31
(c)29,30
(@) 25,31
o A1
X B.2

X C.3

X D.4

Question ID : 2233951554
Status : Answered
Chosen Option : A

Q.20

Ans

A man starts from a point and cycles lkm North. He then turns right and cycles 3km, and
again turns right and cycles 5 km. How far and in which direction is he from his starting
point?

(a) 4km.East

(b) Skm. South East
(c) 4km. North

(d) Skmn. North East

* A1
& B.2

X c.3
X D.4

Question ID : 2233951569
Status : Answered
Chosen Option : B

Q.21

Ans

If all prime numbers from 1 to 49 are removed, then how many numbers will remain?

(a) 33
(b) 34

(© 32
(@) 36
KA1
& B.2
xXcs3
X D.4

Question ID : 2233951574
Status : Answered
Chosen Option : B
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Q.22
Keshav, Jeevan, and Nikhil are 3 brothers. If the following statements are all true,

which of them is the youngest?
v Keshav is the oldest.
¥'Nikhil is not the oldest.
vJeevan is not the youngest.

(a) Jeevan

(b) Keshav

(c) Nikhil

(d) Both Jeevan and Nikhil

Ans X A.1
K B.2
& C.3
K D.4

Question ID : 2233951556
Status : Answered
Chosen Option : C

Q.23
In the following words which one is different from the others?

(a) Cat
(b) Wet
(c) Run
(d) Act

Ans X A1
X B.2
K C.3
& D.4

Question ID : 2233951557
Status : Answered
Chosen Option : C

Q.24
If A does half as much work as B in three fourths of the time. If together they take 18

days to complete the work , how much time shall B take to do it ?

(a) 920 days
(b) 91 days
(c) 80 days
(d) 99 days
Ans o AT
X B.2
X C.3
X D.4

Question ID : 2233951555
Status : Answered
Chosen Option : C
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Q.25

Ans

Sonu started from her house towards North. After covering a distance of 8 km. she
turned towards left and covered a distance of 6 kin. What is the shortest distance
now from her house?

(a) 10km
(b) 12km
(c) 1dkm
(d) 15km

o A1
X B.2
Xcs3
X D.4

Question ID : 2233951563
Status : Answered
Chosen Option : A

Section : Aptitude relating to the field of Management and Communication Skills

QA1

Ans

Serving in one organization and being a consultant in a competitor’s
organization amounts to

(a) Sin

(b) Conflict of interest
(¢) Tmmorality

(d) Loyalty

X A1
o B.2
Xca3
X D.4

Question ID : 2233951577
Status : Answered
Chosen Option : B

Q.2

Ans

is the task of buying goods of the right quality, in the right quantities, at
the right time and at the right price.

(a) Supplying
(b) Purchasing
(c) Scrutinizing

(d) None of the above

X A1
' B.2
X C.3
X D.4

Question ID : 2233951584
Status : Answered
Chosen Option : C
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Q.3
Complete the sentence by filling in the blanks with suitable options

If yon think back to the dating analogy, going through the sales process is just like
yvour prospect to turn them into a .

(a) Initiating, follower
(b) Wooing, customer

(c) Informing, companion
(@) Advertising, partner

Ans X A.1
 B.2
X C.3
X D.4

Question ID : 2233951589
Status : Answered
Chosen Option : B

4
: A communication process can be considered complete when
(a) The sender transmits the message
(b) The message enters the channel
(c) The message leaves the channel

(d) The receiver understands the message

Ans X A.1
X B.2
X C.3
& D.4

Question ID : 2233951578
Status : Answered
Chosen Option : D

Q.5
A includes rules for forming compound words, abbreviating technical
terms, and writing unusual or difficult words.
(a) Appendix

(b) List of references
(c) Bibliography
(d) Glossary

Ans X A.1
X B.2
X C.3
o D. 4

Question ID : 2233951583
Status : Answered
Chosen Option : D
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Q.6

Effective Management Communication involves:

(a) Maintaining distance from the Employees
(b) Discourage interpersonal communication
(c) Provide Clarity

(d) Indifferent Listening

Ans X A.1
& B.2
& C.3
X D.4

Question ID : 2233951595
Status : Answered
Chosen Option : C

Q.7
Code-switching and code-mixing are a phenomenon where speakers mix two or

more languages in their everyday speech on regular basis. Code-switching and
code-mixing are done only by bilingual and multilingual speakers.

I.  All bilingual and multilingual speakers code-switch and code-mix.
I1. Some bilingual speakers code-switch and code-mix.
III. All speakers who code-switch and code-mix are at least bilingual.

IV. Some multilingual and all bilingual speakers code-switch and code-mix.

Based on the above, which of the following statements is true?
(a) Only I

(b) Only ITT
(¢) Both II and III
(d) Both I and IT
Ans X A.1
K B.2

& C.3
X D.4

Question ID : 2233951593
Status : Answered
Chosen Option : A
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Q.8
Statement: “You are hereby appoinfed as a programmer with a probation period of
one year and your performance will be reviewed at the end of the period for
confirmation.”- A line in an appointment letter.

Assumptions:

I. The performance of an individual generally is not known at the time of
appointment offer.

II. Generally an individual tries to prove his worth in the probation period.
(a) only assumption I is implicit.

(b) only assumption II is implicit.

(c) Either I or II is implicit

(d) Both I and IT ave implicit.

Ans X A.1

X B.2
X c.3
& D.4

Question ID : 2233951592
Status : Answered
Chosen Option : D

Q.9

‘What is the main objective of communication?
(a) Control and Management
(b) Information and Persuasion
(¢) Personality Development
(d) Displav Needs

Ans X A.1
o B.2
X C.3
X D. 4

Question ID : 2233951597
Status : Answered
Chosen Option : B
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Q.10

Ans

The paragraph given below is followed by a question. Select the option as an
appropriate answer.

Businesses that invest in renewable energy tend fo view profit as secondary to
social responsibility. Investments in renewable energy are also very risky and
several have been known to cause their company very large losses. Therefore, it is
a bad idea for vou to invest in renewable energy.

Which on the following, if true, most weakens the argument presented above?
Possible Answers:

(a) Typically, companies which have very big losses go bankrupt within a year.
(b) Companies that focus on social responsibility first tend to have lower profits.

(c) Companies that invest in renewable energy compensate for their high risk by
diversifying the energy sources they use.

(d) Many investment strategies dictate that you should diversify your portfolio.

KA1
X B.2
& C.3
X D.4

Question ID : 2233951588
Status : Answered
Chosen Option : C

Q1

Ans

How many of following words can be made from the word ‘UNDERTAKING using any letter
any number of times?
Racer, Inking. Reduce, Rater, Kanter, Drinker, Reduit. Kingle, Taken, Unaimed

(a) 6
(b) S
(c) 4

@a

o A1
X B.2
Xcs3
X D.4

Question ID : 2233951586
Status : Answered
Chosen Option : A

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258021358/1258021358S5D261/16311691282158263/1....

37/42



9/13/21, 7:10 PM https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258021358/1258021358S5D261/1631...

Q.12
What is buffer in communication?
(a) A cushion to minimize negative impact
(b) Statement to given Compliments
(c¢) Sum of all Information
(d) Negative Information

Ans A1
X B.2
K C.3
X D.4

Question ID : 2233951598
Status : Answered
Chosen Option : C

Q.13
In an organization, emplovees talking in the canteen or indulging in gossip
amounts to

(2) Formal communication
(b) Informal communication
(c¢) Feedback

(d) Bulletin

Ans X A1
& B.2
X C.3
X D.4

Question ID : 2233951576
Status : Answered
Chosen Option : B

Q.14

As the emplovee's motives were found fo be , ho disciplinary action will be
taken against him for the mistake.

(a) Absurd
(b) Gratuitous
(c) Improvised

(d) Benign

Ans X A1
* B.2
X C.3
& D.4

Question ID : 2233951590
Status : Answered
Chosen Option : B
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Q.15

Ans

To hold the attention of your andience during a speech or presentation, you must do all of
the following except

(a) Relate vomr subject to your audience’s needs

(b) Define your Purpose

(¢) Use clear, vivid language

() Explain the relationship between your subject and familiar ideas

X A1
 B.2
Xcs3
X D.4

Question ID : 2233951599
Status : Answered
Chosen Option : C

Q.16

Ans

What is an example of downward communication

(a) A board of directors instructing management to take a specific action.
(b) Management instructing the board of directors to take a specific action.
(c) Employees making demands on the Board of Directors

(d) Employees instructing the Chief Executive Officer

o A1
X B.2
Xc3
X D.4

Question ID : 2233951600
Status : Answered
Chosen Option : C

Q17

Ans

Sumit sold an article at a loss of 25%. If the selling price had been increased by Rs. 350,
there would have been a gain of 10%. What was the cost price of the article

(a) Rs.90
(b) Rs. 800
() Rs.120
(d) Rs. 1000

X A1
X B.2
Xcs3
& D.4

Question ID : 2233951580
Status : Answered
Chosen Option : D
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Q.18

Ans

A person will not be appointed as Director if he is observed to be of unsound mind by—
(a) the company

(b) the company courts
(¢) a competent jurisdiction court and the finding is in force

(d) the shareholders

X A1
X B.2
& C.3
X D.4

Question ID : 2233951582
Status : Answered
Chosen Option : D

Q.19

Ans

Choose the correct plural form of the word Appendix

(a) Appendices
(b) Appendixia
(c)  Appendixis
(d)  Appendicitis

o A1
X B.2
Xcs3
X D.4

Question ID : 2233951587
Status : Answered
Chosen Option : B

Q.20

Ans

Select the option that indicates the grammatically correct and appropriate
sentence(s).

A) In many ways India counts one of liberalisation’s greatest success story.

B) For vears it pottered along, weighed by the regulations

C) But over past 15 years it has been transformed into a far more powerful
beast.

D) Without India’s strength, the world economy would have had far less to boast
about.

(a) A only
(b) B only
(¢) C only
(d) D only

KA

X B.2

X C.3

' D. 4

Question ID : 2233951591
Status : Answered
Chosen Option : B

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258021358/1258021358S5D261/16311691282158263/1....

40/42



9/13/21, 7:10 PM

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258021358/1258021358S5D261/1631...

Q.21
What are the types of non-verbal communication?
(a) Writing
(b) Documentation
(¢) Recording
(d) Gesture
Ans X A1
X B.2
K C.3
o D.4
Question ID : 2233951594
Status : Answered
Chosen Option : B
Q.22
The Internet ethical protocol is called
(a) net protocol
(b) netiquette
(¢) netethics
(d) net morality
Ans X A1
o B.2
X C.3
X D.4
Question ID : 2233951579
Status : Answered
Chosen Option : A
Q.23
Which of the following provides necessary informafion for job evalunation?
(a) Job Enrichment
(b) Job Description
(¢) Job Ranking
(d) Job Enlargement
Ans X A1
o B.2
X C.3
X D.4
Question ID : 2233951585
Status : Answered
Chosen Option : B
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Q.24

Ans

Which of the following are the tools of good governance?
1. Limited Transparency

2. Centralised control

3. Bureaucratic management

4. Right to Information

Select the correct answer from the codes given below:
(a) 1,2,3 and 4
(b) 2,3 and 4
(c) 1 and 4
(d) Only 4

XA
X B.2
Xc3
& D. 4

Question ID : 2233951581
Status : Answered
Chosen Option : D

Q.25

Ans

The paragraph below is followed by a question. Select the best option as your answer.

Consumers are not so easilv manipulated as they are offen painted. They may know
what they want, and what they want may be greatly different from what other people
believe they need.

Which of the following statements, if true, most weakens the above argunment?
(@) Most people continue to buy the same brand of a product year after vear.
(b) Companies that advertise the most sell the most products.
(c) Store shelves packed with a variety of different brands have the potential to
confuse the consumer.

(d) People who shop with others rarely argue with their companions.
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